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CEEY

ESSayS:

ji Security A has an' expected
deviation of 15 percent, an

{..I’;?; Security B has an ewpected rekturn of
deviation of 20 percent, and a correlation wit

il D ks L AR

return of 12.4 pnr&qnh with a #standard

d a correlatbion with the market of 0,.85%.
~0.73 percent with a standard

h the market of =D.67. The

standard deviation of ky is 12 percent.

3.

2 The abbreviated balance sheet and
Hanufacturing Company (NAMFAC) are gliven below:

Lith)

Ik

aarnings in dividends.
percent per year
macket prlca of

the CAPM, which securiby ia more

To someone who acte ih accordance with
y to answer this

rieky, A or B? Why? No calculations are necessar

gquaation; it is easy.
What are the beta coefficienta of A and B? Calculations are peceasary.

If the risk-free rate is 6 percent, what is the value of k,?

income statemant Ffor The Hacional

The Maticnal Hanufacturing Company
Balance Sheet _
as of December 31, 1995
{Thousands of Dollars)

Currant asseta 515,000 Pebt (7T%) 515,000
Het fixed aspats 15,000 common Stock (510 Par) 10,000
Retained earnings 5,000

$90,000 Total liabilities and eguity 530,000

2

Tntﬁl assate

Income Statemant
for tha Year Ending
Dacember 31, 1995
{Thousands of Dollarsj

Salea 545,000
Ccost of goods sold and operating expenséd 16,950

Earnings before interest and taxas (EBIT) § 8,0%0
Interaat expanese ;.ﬂﬁﬂ
© Taxable income 5 7,000
Taxea (40%}) : __ 2,800
Hat Lacomsa g d‘igg

has been HAMFAC's policy to pay out approximately 40 parcent of current
The company has been growlng at aporoximately 5
and is expected to do so in the future. The current
NAMFRC common stock lLa 10 Limes the 1991 sarnings per

share.

a.
bB.

what have investors set as their regquired rate of return?

Because the currant rate of interest on U.5. Traasury securicies is 10
percent and Natlional Manufacturing is relatively small and therafore
risky, investora would need to earn a return of at least 14 percent.
At what market price would you invest in Hatieonal HManufacturing?
Hecause of the development of a newly patented process, it ks now
expectad that "HAMFAC's earnings and dividend growth rate will be
approximately 14 percent annually for the foresseable future., If the
market place now requires a 17 percent raturn on this inveatment,

calcylate the new price of the stock.
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5.
Lok

‘machines. Two new models are avallable:

The Jacksen Company has just pald a dividend of 53.00 per share on its
commqn stack, and it expects this dividend to grow by 10 percent par year,
indefinitely. - The firm has a beta of 1.50; the risk-free rate is 10
percent; and the expected return on the market ig 14 percent. The firm's
inveetmant bankere believe that new ilssues of common ptock would have a
flotation cost equal to 5 percent of the current market price.

How much should an investor be willing to pay for this stock today?

What will be Jl:kﬁﬂﬂ'ﬂ.tﬂlt ¢E_ﬁih common stock LE Lb fEduas n-# atock

in the marketplace today?

t raplace one uf-iti Fully dﬂﬁ:nnlnt-d cannling
Machine A, having a coBt of

5100,000, an expected life of 3 years, and before-tax cash flow savings of
555,000 per year, and Machina B, having a cost of 200,000, an expectead
Life of § years, and before-tax ~agh Fflow savinge of 580,000 per year.
Hachine A falls into the MACRS 3-year class, while Machine B falls into
the HACRS S-year clase. Both machines will have an expected salvage value
aqual to their book wvalue at thae end of thelr expected llives.
Technological improvements are expacted sc that any machina pugchased
after )} years will provide aftar-tax profit plus depreclatlon caun flowe
that are 20 percent higher than pragent cash flows. FHowaver, machinery
prices in 3 yeara are projected to rige by 20 percent, offsetting the
increased cash flows. Aftar that time, Tampa projects that machinary
prices and cash flows will pe constant. The firm's cost of capital is 15
percent and lLkta federal-plus-atate tax rate ig 40 percant. 1f the
replacement la to be made, Lt must be done now.

The MACRS recovery allowance percentagem for 3~ and §-Year asoets are

ag foilows:

Tampa Canning Company mue

Recovery hllowance
J-Year - S-Year
I 9
i 33s 20%
2 45 32
3 1% 13
4 7 12
5 11
& — —£
100+ 100%

should Tampa replace tha old machine
with which alternative? C Ainle ysin -Eﬁi-ﬁ’"}mfﬂﬂfqmqﬂf n;ﬁw}f)’ifﬂ*tf-tt

Fa

You are the director of capital budgeting of an all-equity firm. The
firm's current coat of egquity is 16 percent; the rlak-free rate is 10
percent; and the market risk premivm ls 5 percent. You are considering a
new preject that has 50 percent more bata rigk than your firm's assets
currently have. The expected retuen (IRR} on Ethe new project La 18
percent. Should the project ba accepted if bata risk is the appropriate

risk measura?

with one of these two models? 1£ 8o,
' wd 442 )
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The Rundle Contalner Company and the Ragland Can Corpeoratiecn are =ach
intreducing a new biodegradable container. Relevant operating data for
each firm are as followa:

—Bundle =~  _Ragland

Unite 100,000 100,000
Hew sales 5500,000 5500, 000
Variable costs 5100,000 250,000
Fiued costm 5250,000 $100, 000
Haximum capacity 500,000 200,000
Sales price per unit $5.00 55.00
Variable cost per unit 51.00 52.50

a. Calculate the breakeven point for both firma.

b. What is the new profit, ignoring taxea, for each flrm at 100,000 units
of preduction? '

¢." Intuitively, which firm would you expect te have the higher net profit
at 200,000 unite of production? Why? Check your answer.

Cannon Company has enjoyed a rapid inérease in sales in recent years,

following a declelon te eell on eradit. However, the firm has noticed
a recent increaee in ite collection peried, Last year, total salee
were 51 million, and $5250,000 of these sales were on credit. During
the year, the accounts recelvable account averaged 541,664. It ie
expected that males will increass in the forthcoming ywar by 50
percent, and, while credi: sales should continue to ba the same
proportion of total walea, it is axpected that the days sales
‘outatanding will also increase by 50 pexcent. If the rasulting
increasa in accounte recaivable must be financed by external funda, how
much will Cannon need? { Hﬂffﬂm‘h? l:ﬂ"ﬂ ;éﬂdtﬁ -
TADLE] - Present Value of an Annuity of §1 per Period for n Periods
' l _]_
o | U T .
PVIF A = .gtu e k kK TR+ K"
Mumber
Pomods 10 2% 4% B% 6% 18% 20% 4% 28% 3%
u 09 08919 0Tz 089 08621 0475 08333 08065 07813 07576
2 17355 16901 Le467 16257 15052 15636  1.NFB 1.436B L3916 13313
B 7.4869 24018 13216 22882 1LM39 .13 1065 L5813 18684 1.7663
4 31699 30373 L9y 1LESS0 2.7982 2.5901 2.5887 2403 2.2410 2.0957
5 37908 J.olie 3410 33522 i k) 3.1272 2,598 25 2,530 2. M52
TABLEZ . Future Value of an Aanuity of $1 per Period for n Periods
- L+ K= 1
FVIFAL, = E; 1+ k" = Lk]_.
Fm
Mumber
Ftﬁfﬁdi 2% 14% 15% 6% 18% 201% M e 4o % 6%
: LOGOO 10000 1.0000
1 10000 B0 LR TR ..MM 1Mt [N LU
3 2t 2.1400 XI5 Fl [L 21 2. MMM 22400 2.3800 2310 iﬁ
3 3304 34394 I ] 35058 35724 b4 A FTHR 3915 40624 -m1
] S 773 492411 19934 0645 5.5 5. 36BN 5 hE2 ,0156 £.J614 &, #
5 6. 34328 LR LN G 7424 w877 7542 :"-1--!]& LR H.6590 4,195 (LI




